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2.2 INSTANTANEOUS RATE OF CHANGE (IROC)
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THE METHOD (to the madness??)

Method 1 - Preceding and Following Intervals
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Method 2 - Centred Intervals
Fod ARoc <
fon ndenvals
Contened. aloant
xX=aA amd Yo
ol e wdervzds
SM“{/\ .




2.2 - IROC half September 06, 2016

Using Table of Values
Example 1 - Find theWta}%&r\wpeed) onds
Time, t (s) 60 | 62 | 64 68 | 70

Distance, d(t) (em) |(208.39|221.7g] 23541 J931 26346 | 277.84
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Time (min) o 1| 2| 3| 4| 5| 6
Temperature (°F) | 70 | 125 | 170210 250[ 280 | 310|335 | 360 | 380 | 400
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Using Equations

Example 1

The population of a small town appears to be growing exponentially. Town
planners think that the equation P(¢) = 35 000 (1.05), where P(¢) is the
number of people in the town and # is the number of years after 2000, models
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population in 2015,

Method 1 : Method 2
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V(x) = x%, where V{(x) 1s the volume measured in cubic centimetres and x is
the side length in centimetres. Estimate the instantancous rate of change in the
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